Random Variables and Probability Distributions 
1. a. C

b. D

c. C

d. D

e. C

f. D

g. C

2. a. Yes

b. No

3. a. 1 – P(0)

b. P (2) + P (3) + P (4) + P (5)

c. P (0) + P (1) + P (2)

d. ∑ X P(X)

e. ∑ [image: image2.png]


 P(X) - [image: image4.png](MEAN)?




Binomial Distributions

1. a. Mean = np

Variance = npq

Standard deviation = [image: image6.png]Vnpq



 where n is the number of trials=5, p=0.53, q=1 – p =0.47 

2. i. P(5)=  (5 C 5) (0.53)5 (0.47)0
ii. P(4)  + P(5) =(5 C 4) (0.53)4 (0.47)1  +  (5 C 5) (0.53)5 (0.47)0

iii. P(1) + P(2)

iv. P(1)

3. a. x= the number of defective bulbs

b. Yes

c. 100[image: image8.png]



4. a. Yes

b. Binomial distribution

c. P(2) =  (6 C 2) (0.09)2 (0.91)4

d. mean=np , standard deviation=[image: image10.png]Vnpq



 
Calculating Standardized Scores

1. z-score = [image: image12.png]raw score - mean

standard deviation




IQ-score=[image: image14.png]raw score - standardized mean

standard deviation




2. Find z-scores of math test and science test. See which one is higher.

3. Find z-scores of history test and chemistry test. See which one is higher.

4. Use graphing calculator.

5. Use graphing calculator.

6. z-score = [image: image16.png]raw score - mean

standard deviation




7. Use the graphing calculator to find P(1.0) < Z < 2.4
